7. Breaking down the bill...

Punit 2: Notes: Linear Inequalities

Write an equation the represents the total cost
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2. The bl“ says that 530 covers "500 monthly MB allowance what does that mean‘-’

a. lety stand for the amount of MB | am allowed to use every month.
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Write a numerical representation using y that stands for the amount of MB | am allowed to use every mon
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b. Amlallowed to use more Wallotted MB? ;
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Write an amount of data usage in MB that my plan would | Write an amount of data usage in MB that would NOT be
cover without an additional charge. 7( L 600 considered a solution.
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The solutlon set can be expressed ...

..graphically ..in set notation
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a. The water temperature of a b. The water temperature is c. Approximately 30% °f thed
pool must be no less than less than 76°F. land on Earth is deforeste
76°F. = but this percent is decreasing
due to construction.
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Linear inequalities can be solved jus
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Linear mequahtles can be solved just hke Imear equations: using properties of inequality.
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Punit 2: Notes: Linear Inequalities

> solve the linear inequality. Graph the solution set, 6nd express in set notation.” )
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f. Felixwantsto ge( at least gne hour of exercise each day. Today he has run 40 minutes. Write, solve, and
graph an inequality that shows how much longer he needs to exercise to reach his goal.

Exit ticket: Describe the differences between equations and inequalities. Are they

S alike? Elaborate.
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